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Math 260 (022)
Quiz 4 (Ch 4, 5.1)
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@_,py) (1) Let Wz{(xl,xz,x3)eR3:xl+xz+x3=1}. | ) T -3 1,0
Determine whether or not W is a subspace of (I
R®. o 1 -3 { ¢
(2) In the following, determine whether the given : '
vectors are linearly independent or linearly Tln Aeads Ay Narve Lbiss ==
dependent. Justify. R
(1e) a v=@Dv,=0 2),vy=(-1, 2) X Lo+ |2 = ¢
x o~a 2 > 3
U?*') b. v, =(2,-1,0,3),v, =(0,2,0,0) '
(3) Determine whether or not
(Q?‘\_) v, =(2,1,0),v, =(0,2,0), v3—(-12l)forma 2 X, = 3t ‘
basis for R®. ' (g ) vo o
(4) Find the basis for the solution space of omd v v 3 »
% —-3x2 -x, =0 '
&‘19¥3 -3x, =‘0 - C’(\ <, , ): t ( \? %'_3‘)
kg?’o) ) Find the general solution of y"+2y'—15y=0.
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